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Lisa is ________ than Mike.

Answer: ___________________

Mike is ________ than Lisa.

Answer: ___________________

Lisa is ________ friendly than Mike.

Answer: ___________________

Mike is ________ friendly than Lisa.

Answer: ___________________

Lisa has ________ friends than Mike.

Answer: ___________________

Mike has ________ friends than Lisa.

Answer: ___________________

Lisa enjoys ________ time with friends than Mike.

Answer: ___________________

Mike enjoys ________ time with friends than Lisa.

Answer: ___________________

Lisa is ________ interested in hanging out with friends than Mike.

Answer: ___________________

Mike is ________ interested in hanging out with friends than Lisa.

Answer: ___________________



Answers

Lisa is ________ than Mike.

Answer: older

Mike is ________ than Lisa.

Answer: younger

Lisa is ________ friendly than Mike.

Answer: more

Mike is ________ friendly than Lisa.

Answer: less

Lisa has ________ friends than Mike.

Answer: fewer

Mike has ________ friends than Lisa.

Answer: more

Lisa enjoys ________ time with friends than Mike.

Answer: less

Mike enjoys ________ time with friends than Lisa.

Answer: more

Lisa is ________ interested in hanging out with friends than Mike.

Answer: less

Mike is ________ interested in hanging out with friends than Lisa.

Answer: more


